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V'{e6Ha{ ilpolpaMMa cocraBrreHa Ha ocnoBe OCBO 6-05-061I-01-202J
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B.B. Ilonerenrrrafi, AorIeHr r<aSe4pu o6qefi vr MeAr{rllrHcrofi $u:uxn
frp exAeH ua o6p asoBankrl. <Mex4yHap o4nufi ro cyAapcreeHHrrfi oKoJro rzrr ecrufi
I4HcrI4Tyr raru. A. ,{. CaxapoBa)) EenopyccKoro rocyAapcrBeHHoro yHr4Bepcurera;

4.I4. Pa4ror, crapurufi rperloAaBareJlb xaQe4prr o6qefi r{ MeAr4rlrrHcxofi Svrsuru
f{pe)KAeHua o6pazoBaHr{rl <<Mex4ynapo4nrrfi rocyAapcreeHHrrfi oKoJrorr4qecrufi
LIHcrI4Tyr LIna. A. .{. CaxapoBD) EenopyccKoro rocyAapcrBeHHoro yHaBepcr4Tera

PEIIEH3EHTbI:

KaQe4pa Srasnxo-rvrareMarl{rlecKLlx Arzcrlznnr4H I[ucruryra uHSopr'rarluoHHbrx
rexnonorufi EenopyccKofo focyAapcrBeHHoro yHuBepcr4Tera uusopuarr,rru kt
paArro3 JreKTp oHr4 Krr ;

B. B. Xypanron, :aee4ytoqufi raQe4pofi znQoprraaqr4oHHbrx rexnonornfi B
sKOJrOfr4r4 vr MeALrrILrHe yqpexAeHr4{ O6pasoeanux <<Mex4yuapo4urrfi
rocyAapcreeHHrrfi sKoJlorllqecrufi I4HcrLTTyr urvr. A. ,.{. CaxapoBa) EelopyccKoro
f o cyAap crBeHHof o yH[Bep cr4Tera, KaHAEAaT 6H OrOru.re cKLtx HayK, AorIeHT
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KaQeapofi o6rqefi vr MeAr4rruHcr<ofi Sz:urcu yqpexAeHr4r o6pa:oeauur
<Mex4yuapo4nrrfi focyAapcreeHHrrfi 3KoJrorr4rrecxufi r4Hcrr4ryr r4M. A. A.
Caxapona> EelopyccKoro rocyAapcrBeHHoro yHr4Bepclrrera . (upororon
Ns i0 or &4 -mo 2023);

Hay.rHo-IvreroAllqecKr4M coBeroM yqpex(AeHr4fl o6pasoeanrzs <<MexAyHapoguufi
rocyAapcrseHHrrfr sKoJlorl4rlecrzfi LIHcrpITyr uu. A. .{. CaxapoBa) EelopyccKoro
rocyAapcrBeHHoro yHr{Bepcr4rera (npororor Ns_g_o r 4 /@4 2023)
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�4F5<4F<G5E><= 4=4?<7 O6?O5FEO DG=44<5=F4?L=>= 4<EF<??<=>=. � 

E6O7< E 6>7D>EL5= D>?LN <4F5<4F<>< 6 E>6D5<5==>= =4G>5 < F5E=<>5 
5G4GM<5 M>>?>7<, <=65=5DO =G644NFEO 6 E5DL57=>= <4F5<4F<G5E>>= 
?>47>F>6>5. �7GG5=<5 <4F5<4F<>< D476<645F ?>7<G5E>>5 <OL?5=<5, ?D<GG45F 
EFG45=F4 > F>G=>EF<, > G<5=<N 6O45?OFL 7?46=>5, 445F =5>5E>4<<O5 
E6545=<O 4?O ?>=<<4=<O E?>6=OE 7444G, 6>7=<>4NM<E 6 D47?<G=OE >5?4EFOE 
G5?>65G5E>>= 45OF5?L=>EF<. �4F5<4F<G5E><= 4??4D4F ?>76>?O5F 
54<=>>5D47=> >?<E4FL L<D>><= >DG7 D4>F>6 < O6?5=<=, ?D>65EF< <E 
45F4?L=O= >>?<G5EF65==O= 4=4?<7, ?D54E>474FL, >4> ?>6545F E55O >5N5>F 6 
D47?<G=OE GE?>6<OE. �4F5<4F<G5E><5 <>45?< L<D>>> ?D<<5=ONFEO 6 
<5E4=<>5, D<7<>5, M>>?>7<< < F. 4. �4F5<4F<G5E><= 4=4?<7 =5>5E>4<< 4?O 
<7GG5=<O E?5F<4?L=OE 4<EF<??<= (>E=>6O 4?7>D<F<<74F<< < 
?D>7D4<<<D>64=<O, >><?LNF5D=O5 E5F<, EF4F<EF<G5E><5 <5F>4O >5D45>F>< 
44==OE < 4D.) 

&5?< >5GG5=<O 4<EF<??<=5: 

ý D>D<<D>64=<5 <4F5<4F<G5E>>= >><?5F5=F=>EF< >5GG4NM<EEO 4?O 
=5?D5DO6=>7> >5D47>64=<O < ?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 
ý D476<F<5 ?>7<G5E>>7> < 4?7>D<F<<G5E>>7> <OL?5=<O; 
ý >6?445=<5 >E=>6=O<< <5F>44<< <EE?54>64=<O < D5L5=<O 

<4F5<4F<G5E><E 7444G; 
ý 6OD45>F>4 G<5=<O E4<>EF>OF5?L=> D4EL<DOFL <4F5<4F<G5E><5 7=4=<O < 

?D>6>4<FL ?>EF4=>6>G < <4F5<4F<G5E><= 4=4?<7 ?D<>?44=OE 7444G. 

�444G< >5GG5=<O 4<EF<??<=5: 

ý D>D<<D>64=<5 G EFG45=F>6 >E=>6=OE ?>=OF<= < <5F>4>6 
<4F5<4F<G5E>>7> 4=4?<74; 
ý >5GG5=<5 D5L5=<N ?D<>?44=OE 7444G <4F5<4F<>< 6 >GDE4E D<7<><, 

E<<<<, ?D>7D4<<<D>64=<O, M>>?>7<<; 
ý D476<F<5 =4GG=>7> <<D>6>77D5=<O. 

%FG45=F 4>?65= 6?445FL E?54GNM<<< >><?5F5=F<O<<:  
���-2. �D<<5=OFL <5F>4O 4<DD5D5=F<4?L=>7> < <=F57D4?L=>7> <EG<E?5=<=, 
4??4D4F F5>D<< EF5?5==OE < DG=>F<>=4?L=OE DO4>6 ?D< ?>EFD>5=<< < 
<EE?54>64=<< <4F5<4F<G5E><E <>45?5= ?D<>?44=OE 7444G. 

� D57G?LF4F5 GE6>5=<O 4<EF<??<=O EFG45=F 4>?65= 

7=4FL: 

ý >E=>6=O5 <5F>4O 4<DD5D5=F<D>64=<O < <=F57D<D>64=<O; 
ý >E=>6=O5 F<?O >5O>=>65==OE 4<DD5D5=F<4?L=OE GD46=5=<= < 

<5F>4O <E D5L5=<O; 
ý >E=>6O F5>D<< DO4>6; 
ý D>?L < 7=4G5=<5 <4F5<4F<G5E>>7> 4=4?<74 ?D< ?>EFD>5=<< 

<4F5<4F<G5E><E <>45?5=; 
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G<5FL: 

ý 6O?>?=OFL 45=EF6<O E >><??5>E=O<< G<E?4<<; 
ý 6OG<E?OFL ?D545?O ?>E?54>64F5?L=>EF< < DG=>F<<; 
ý 4<DD5D5=F<D>64FL < <=F57D<D>64FL DG=>F<< >4=>= < =5E>>?L><E 

?5D5<5==OE; 
ý =4E>4<FL >5M55 < G4EF=>5 D5L5=<O 4<DD5D5=F<4?L=OE GD46=5=<= 

?5D6>7> ?>DO4>4; 
ý <EE?54>64FL EE>4<<>EFL G<E?>6OE < DG=>F<>=4?L=OE DO4>6; 
ý D47?474FL DG=>F<< 6 EF5?5==O5 DO4O; 
ý ?D<<5=OFL <5F>4O 4<DD5D5=F<4?L=>7> < <=F57D4?L=>7> <EG<E?5=<= 

4?O D5L5=<O 7444G ?D>D5EE<>=4?L=>= =4?D46?5==>EF<; 

6?445FL: 

ý <5F>44<< <4F5<4F<G5E>>7> 4=4?<74 < <>45?<D>64=<O, 
F5>D5F<G5E>>7> < M>E?5D<<5=F4?L=>7> <EE?54>64=<O; 

ý =46O>4<< <=F5D?D5F4F<< ?>?GG5==OE D57G?LF4F>6 <4F5<4F<G5E>>7> 
<EE?54>64=<O; 

ý =46O>4<< ?D4>F<G5E>>7> <E?>?L7>64=<O 547>6OE 7=4=<= < <5F>4>6 
<4F5<4F<G5E>>7> 4=4?<74 6 ?D>D5EE<>=4?L=>= >5?4EF< 7=4=<O. 

 

�D>7D4<<4 >GDE4 D4EEG<F4=4 =4 330 G. �G4<F>D=OE G4E>6 176, <7 =<E: 
?5>F<>==OE 3 82 G, ?D4>F<G5E><E 74=OF<= 3 94 G.  

$>D<4 ?>?GG5=<O 6OEL57> >5D47>64=<O 3 4=56=4O.  

$>D<4 F5>GM5= 4FF5EF4F<< 3 74G5F 6 I E5<5EFD5, M>74<5= 6>  
II E5<5EFD5. 

&DG4>5<>>EFL 4<EF<??<=O E>EF46?O5F 9 74G5F=OE 54<=<F. 
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&5<4 1. �6545=<5 6 >GDE <4F5<4F<G5E>>7> 4=4?<74 

�>=OF<5 <=>65EF64, >?5D4F<< =44 <=>65EF64<<. '<E?>6O5 <=>65EF64. 
�=>65EF6> >><??5>E=OE G<E5?. �?755D4<G5E>4O D>D<4 74?<E< >><??5>E=>7> 
G<E?4. �5=EF6<O =44 >><??5>E=O<< G<E?4<< 6 4?755D4<G5E>>= D>D<5. 
�>4G?L < 4D7G<5=F >><??5>E=>7> G<E?4. &D<7>=><5FD<G5E>4O < 
?>>474F5?L=4O D>D<O >><??5>E=>7> G<E?4. �5=EF6<O =44 >><??5>E=O<< 
G<E?4<< 6 FD<7>=><5FD<G5E>>= < ?>>474F5?L=>= D>D<4E.  

$G=>F<<. �E=>6=O5 ?>=OF<O. %?>E>5O 7444=<O DG=>F<<. %6>=EF64 
DG=>F<=.  

�>=OF<5 G<E?>6>= ?>E?54>64F5?L=>EF<. %?>E>5O 7444=<O. �<4O 
?>E?54>64F5?L=>EF5=.  

&5<4 2. �D545? ?>E?54>64F5?L=>EF< < DG=>F<<. �5?D5DO6=>EFL 

DG=>F<< 

�D545? G<E?>6>= ?>E?54>64F5?L=>EF<. �5E>>=5G=> <4?O5 < 55E>>=5G=> 
5>?LL<5 ?>E?54>64F5?L=>EF<. %6>=EF64 ?>E?54>64F5?L=>EF5=, <<5NM<E 
?D545?. '<E?> 5.  

�D545? DG=>F<< 6 F>G>5 < =4 55E>>=5G=>EF<. �OG<E?5=<5 ?D545?>6. 
�4<5G4F5?L=O5 ?D545?O. ->6<64?5=F=O5 55E>>=5G=> <4?O5 DG=>F<<. 
�4=>EF>D>==<5 ?D545?O.  

�5?D5DO6=>EFL DG=>F<< 6 F>G>5. �?4EE<D<>4F<O F>G5> D47DO64 
DG=>F<<. �5?D5DO6=>EFL DG=>F<< =4 ?D><56GF>5.  �E<<?F>FO 7D4D<>4 
DG=>F<<. $5L5=<5 7444G E ?D>D5EE<>=4?L=> =4?D46?5==O< E>45D64=<5<. 

 
&5<4 3. �<DD5D5=F<4?L=>5 <EG<E?5=<5 DG=>F<= >4=>= ?5D5<5=>= 

�>=OF<5 ?D><76>4=>= DG=>F<<, 5U 75><5FD<G5E><= < D<7<G5E><= 
E<OE?. %6>=EF64 ?D><76>4=>= 4?O 4D<D<5F<G5E><E 45=EF6<=. �D><76>4=4O 
E?>6=>= < >5D4F=>= DG=>F<<. &45?<F4 ?D><76>4=OE. �<DD5D5=F<D>64=<5 
?>>474F5?L=>-EF5?5==OE, =5O6=> < ?4D4<5FD<G5E>< 7444==OE DG=>F<=. 
�D><76>4=O5 6OEL<E ?>DO4>>6. �<DD5D5=F<4? DG=>F<<.  �D<<5=5=<5 
4<DD5D5=F<4?4 6 ?D<5?<65==OE 6OG<E?5=<OE. �<DD5D5=F<4?O 6OEL<E 
?>DO4>>6. �E=>6=O5 F5>D5<O 4<DD5D5=F<4?L=>7> <EG<E?5=<O. �D46<?4 
�>?<F4?O. $>D<G?4 &5=?>D4. �D<<5=5=<5 ?D><76>4=>= > <EE?54>64=<N 
DG=>F<= (<>=>F>==>EFL, M>EFD5<G<O, =4?D46?5=<5 6O?G>?>EF< >D<6>=, 
F>G>< ?5D57<54). �5M4O EE5<4 <EE?54>64=<O DG=>F<< < ?>EFD>5=<5 55 
7D4D<>4. $5L5=<5 7444G E ?D>D5EE<>=4?L=> =4?D46?5==O< E>45D64=<5<. 

 

&5<4 4. �5>?D545?5==O= <=F57D4? 

�5>?D545?5==O= <=F57D4? < 57> E6>=EF64. &45?<F4 <=F57D4?>6. 
�E=>6=O5 <5F>4O <=F57D<D>64=<O: =5?>ED54EF65==>5 <=F57D<D>64=<5,  
74<5=4 ?5D5<5==>= < <=F57D<D>64=<5 ?> G4EFO<.  �=F57D<D>64=<5 
6OD465=<=, E>45D64M<E >644D4F=O= FD5EG?5= 6 7=4<5=4F5?5 4D>5<. �>=OF<5 
D4F<>=4?L=>= DG=>F<<, D47?>65=<5 ?D46<?L=>= D4F<>=4?L=>= 4D>5< =4 
EG<<G ?D>EF5=L<E 4D>55=. �=F57D<D>64=<5 D4F<>=4?L=OE DG=>F<=. 
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�=F57D<D>64=<5 <DD4F<>=4?L=OE DG=>F<=. �=F57D<D>64=<5 
FD<7>=><5FD<G5E><E DG=>F<=. $5L5=<5 7444G E ?D>D5EE<>=4?L=> 
=4?D46?5==O< E>45D64=<5<. 

 

&5<4 5. �?D545?5==O= <=F57D4? 

�444G4 > ??>M44< >D<6>?<=5==>= FD4?5F<<. �?D545?5==O= <=F57D4? <  
57> E6>=EF64. $>D<G?4 �LNF>=4-�5=5=<F4. �4<5=4 ?5D5<5==>= <  
<=F57D<D>64=<5 ?> G4EFO<  6 >?D545?5==>< <=F57D4?5.  �D<?>65=<O 
>?D545?5==>7> <=F57D4?4 > 7444G4< 75><5FD<< < <5E4=<><. �5E>5EF65==O5 
<=F57D4?O. $5L5=<5 7444G E ?D>D5EE<>=4?L=> =4?D46?5==O< E>45D64=<5<. 

 
&5<4 6. $G=>F<< =5E>>?L><E ?5D5<5==OE 

$G=>F<< =5E>>?L><E ?5D5<5==OE: >E=>6=O5 ?>=OF<O. �D545? < 
=5?D5DO6=>EFL DG=>F<< =5E>>?L><E ?5D5<5==OE. '4EF=O5 ?D><76>4=O5. 
�>?=O= 4<DD5D5=F<4? DG=>F<< 46GE ?5D5<5==OE. �4E4F5?L=4O ??>E>>EFL < 
=>D<4?L > ?>65DE=>EF<. �<DD5D5=F<D>64=<5 E?>6=>= < =5O6=>= DG=>F<= 
=5E>>?L><E ?5D5<5==OE. '4EF=O5 ?D><76>4=O5 < 4<DD5D5=F<4?O 6OEL<E 
?>DO4>>6. ->EFD5<G< DG=>F<< 46GE ?5D5<5==OE. 'E?>6=O= M>EFD5<G<. 
$5L5=<5 7444G E ?D>D5EE<>=4?L=> =4?D46?5==O< E>45D64=<5<. 

 
&5<4 7. �=F57D4?L=>5 <EG<E?5=<5 DG=>F<= =5E>>?L><E 

?5D5<5==OE 

�?D545?5=<5 46>==>7> <=F57D4?4, 57> E6>=EF64. �>6F>D=O5 <=F57D4?O. 
�OG<E?5=<5 46>==OE <=F57D4?>6 6 45>4DF>6>= E<EF5<5 >>>D4<=4F. 
�7<5=5=<5 ?>DO4>4 <=F57D<D>64=<O 6 46>==>< <=F57D4?5. �OG<E?5=<5 
46>==>7> <=F57D4?4 6 ?>?OD=>= E<EF5<5 >>>D4<=4F. �5><5FD<G5E><5 < 
D<7<G5E><5 ?D<?>65=<O 46>==>7> <=F57D4?4.  

�444G<, ?D<6>4OM<5 > >D<6>?<=5==><G <=F57D4?G 1-7> D>44. %6>=EF64 
< 6OG<E?5=<5 >D<6>?<=5==OE <=F57D4?>6 1-7> D>44. �D<6>?<=5==O= 
<=F57D4? 2-7> D>44, 57> <5E4=<G5E><= E<OE?. %6>=EF64 < 6OG<E?5=<5 
>D<6>?<=5==OE <=F57D4?>6 2-7> D>44. $>D<G?4 �D<=4. 'E?>6<O 
=5746<E<<>EF< >D<6>?<=5==OE <=F57D4?>6 2-7> D>44 >F ?GF< <=F57D<D>64=<O. 
�>EEF4=>6?5=<5 DG=>F<< ?> 55 ?>?=><G 4<DD5D5=F<4?G.  

 
&5<4 8. �<DD5D5=F<4?L=O5 GD46=5=<O < E<EF5<O 
�E=>6=O5 ?>=OF<O F5>D<< >5O>=>65==OE 4<DD5D5=F<4?L=OE 

GD46=5=<= (��'). �5M55 < G4EF=>5 D5L5=<5 ��'. �444G4 �>L<.  
��' 1- 7> ?>DO4>4. �E=>6=O5 F<?O  �' 1-7> ?>DO4>4 < <5F>4O <E 

D5L5=<= (E D4745?ONM<<<EO ?5D5<5==O<<, >4=>D>4=O5, ?<=5==O5, 
�5D=G??<, 6 ?>?=OE 4<DD5D5=F<4?4E).  

�E=>6=O5 ?>=OF<O > �' 6OEL<E ?>DO4>>6. �444G4 �>L<. 'D46=5=<O, 
4>?GE>4NM<5 ?>=<65=<5 ?>DO4>4.  

�<=5==O5 >4=>D>4=O5 4<DD5D5=F<4?L=O5 GD46=5=<O 6OEL<E 
?>DO4>>6 < E6>=EF64 <E D5L5=<=. %FDG>FGD4 >5M57> D5L5=<O ?<=5==>7> 
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>4=>D>4=>7> 4<DD5D5=F<4?L=>7> GD46=5=<O. �<=5==O5 >4=>D>4=O5 
4<DD5D5=F<4?L=O5 GD46=5=<O E ?>EF>O==O<< >>MDD<F<5=F4<<.  

�<=5==O5 =5>4=>D>4=O5 4<DD5D5=F<4?L=O5 GD46=5=<O 6OEL<E 
?>DO4>>6. %FDG>FGD4 >5M57> D5L5=<O, ?D<=F<? EG?5D?>7<F<< D5L5=<=. 
�<=5==O5 =5>4=>D>4=O5 4<DD5D5=F<4?L=O5 GD46=5=<O E ?>EF>O==O<< 
>>MDD<F<5=F4<< < ?D46>= G4EFLN E?5F<4?L=>7> 6<44. �5F>4 64D<4F<< 
?D><76>?L=OE ?>EF>O==OE.  

%<EF5<O ��' ?5D6>7> ?>DO4>4. �<=5==O5 E<EF5<O ��' 1-7> ?>DO4>4  
E ?>EF>O==O<< >>MDD<F<5=F4<< < <5F>4O <E D5L5=<O.   

 

&5<4 9. '<E?>6O5 < DG=>F<>=4?L=O5 DO4O 

�>=OF<5 G<E?>6>7> DO44 < 57> EG<<O. %E>4<<>EFL < D4EE>4<<>EFL 
DO4>6. �5>5E>4<<>5 GE?>6<5 EE>4<<>EF< G<E?>6>7> DO44. $O4O E 
?>?>6<F5?L=O<< G?5=4<<. �>EF4F>G=O5 ?D<7=4>< EE>4<<>EF< 
7=4>>?>?>6<F5?L=OE DO4>6: ED46=5=<O, �4?4<55D4, �>L<, <=F57D4?L=O= 
?D<7=4>. �=4>>?5D5<5==O5 DO4O. �5E>?NF=4O < GE?>6=4O EE>4<<>EFL DO44. 
�=4>>G5D54GNM<5EO DO4O. �D<7=4> �5=5=<F4. $G=>F<>=4?L=O5 DO4O. 
%F5?5==O5 DO4O. $44<GE < >5?4EFL EE>4<<>EF< EF5?5==>7> DO44. $O4O 
&5=?>D4 < �4>?>D5=4. $47?>65=<5 >E=>6=OE M?5<5=F4D=OE DG=>F<= 6 DO4 
�4>?>D5=4. $O4O $GDL5. $O4O $GDL5 4?O ?5D<>4<G5E><E DG=>F<=.  
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�
><

5D D4745?4, F5<
O

, 
74=OF<O 

�4764=<5 D4745?4, F5<O  �>?<G5EF6> 4G4<F>D=OE G4E>6  

�
5>F<< 

�
D4>F<G5E><5 

(E5<
<=4DE><5) 

�4=OF<O 

�
45>D4F>D=O

5 74=OF<O 

�
=>5 

$
>D<

O
 >>=FD>?O 

7=4=<= 
 

1 2 3 4 5 6 7 

1 
�6545=<5 6 >GDE 
<4F5<4F<G5E>>7> 4=4?<74 

4 4  
<5F>4. 

?>E>5<5 
E4<>EF. 
D45>F4 

2 
�D545? ?>E?54>64F5?L=>EF< 
< DG=>F<<. �5?D5DO6=>EFL 
DG=>F<< 

6 6  
<5F>4. 

?>E>5<5 

>?D>E, 
E4<>EF. 
D45>F4 

3 
�<DD5D5=F<4?L=>5 
<EG<E?5=<5 DG=>F<= >4=>= 
?5D5<5==>=  

12 14  
<5F>4. 

?>E>5<5 

>?D>E, 
>>=FD. 
D45>F4 

 �>=FD>?L=4O D45>F4 71  2    

4 �5>?D545?5==O= <=F57D4? 12 14  
<5F>4. 

?>E>5<5 

>?D>E, 
>>=FD. 
D45>F4 

5 �?D545?5==O= <=F57D4? 6 10  
<5F>4. 

?>E>5<5 

>?D>E, 
E4<>EF. 
D45>F4 

6 
$G=>F<< =5E>>?L><E 
?5D5<5==OE 

10 8  
<5F>4. 

?>E>5<5 
E4<>EF. 
D45>F4 

7 
�=F57D4?L=>5 <EG<E?5=<5 
DG=>F<= =5E>>?L><E 
?5D5<5==OE 

12 12  
<5F>4. 

?>E>5<5 

>?D>E, 
>>=FD. 
D45>F4 

 �>=FD>?L=4O D45>F4 72  2    

8 
 �<DD5D5=F<4?L=O5 
GD46=5=<O < E<EF5<O 

12 14   
>?D>E, 
>>=FD. 
D45>F4 

 �>=FD>?L=4O D45>F4 73  2    

9 
'<E?>6O5 < DG=>F<>=4?L=O5 
DO4O 

8 6  
<5F>4. 

?>E>5<5 
>>=FD. 
D45>F4 

�%��� 82 94    
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$�������'���/ ��&�$�&'$� 

�E=>6=4O: 

1. �46D<=, �. �. �OEL4O <4F5<4F<>4 : GG55=<> / �. �. �46D<=. 3 3-5 <74., 
EF5D. 3 �. : �74-= F5=FD "�>445<<O", 2003. 3 616 E. 

2. �GE4>, �. �. �OEL4O <4F5<4F<>4 : GG55=<> : 6 2 F. &. 1 / �. �. �GE4>.  3  
5-5 <74. 3 �<=E> : &5FD4%<EF5<E, 2004. 3 543 E.  

3. �GE4>, �. �. �OEL4O <4F5<4F<>4 : GG55=<> : 6 2 F. &. 2 / �. �. �GE4>. 3 
5-5 <74. 3 �<=E> : &5FD4%<EF5<E, 2004. 3 448 E. 

4. �4F>>6E>4O, �. �. �4F5<4F<G5E><= 4=4?<7 : ?D4>F<>G<: 6 2 G. '.1 /  
�. �. �4F>>6E>4O, �. �. %6>M<=E>4O / �<=-6> >5D47>64=<O $�, '� "��-� 
<<. �.�. %4E4D>64" ��'.  3 �<=E> : ��& �<=D<=4, 2022. 3 96 E. 

5. �<EL<5==O=, �. &. �>=E?5>F ?5>F<= ?> 6OEL5= <4F5<4F<>5. �>?=O= 
>GDE / �. &. �<EL<5==O=. 3 18-5 <74. 3 �>E>64 : ��$�%-?D5EE, 2021. 3 608 E.  

 
�>?>?=<F5?L=4O 

6. �G7L<5=>>64, &. �. �4F5<4F<G5E><= 4=4?<7 : GG55.-<5F>4. ?>E>5<5 /  
&. �. �G7L<5=>>64. 3 �<=E> : ��-' <<. �.�. %4E4D>64, 2011. 3 63 E. 

7. �G=7G,  �.  �. %5>D=<> 7444G ?> 6OEL5= <4F5<4F<>5. 1 >GDE /              
�. �. �G=7G, �. &. �<EL<5==O=, %. �. $54<=, .. �. ,56G5=>>. 3 7-5 <74. 3  
�. : �=D<E-?D5EE, 2008. 3 576 E. 

8. $O5GL>>,  �. �. �OEL4O <4F5<4F<>4 : 6 5 G. / �. �. $O5GL>>,               
&. �. �GD. 3  �<=E> : �OLM=L4O L>>?4, 2016-2018. 3 '. 1. �<=5==4O < 
65>F>D=4O 4?755D4. �=4?<F<G5E>4O 75><5FD<O. �<DD5D5=F<4?L=>5 
<EG<E?5=<5 DG=>F<= >4=>= ?5D5<5==>=. 3 2017. 3 305 E. 

9. $O5GL>>,  �. �. �OEL4O <4F5<4F<>4 : 6 5 G. / �. �. $O5GL>>,               
&. �. �GD. 3  �<=E> : �OLM=L4O L>>?4, 2016-2018. 3 '. 2. �><??5>E=O5 
G<E?4. �5>?D545?5==O= < >?D545?5==O= <=F57D4?O. $G=>F<< =5E>>?L><E 
?5D5<5==OE. �5O>=>65==O5 4<DD5D5=F<4?L=O5 GD46=5=<O. 3 2016. 3 273 E. 

10. $O5GL>>, �. �. �OEL4O <4F5<4F<>4 : 6 5 G. / �. �. $O5GL>>,               
&. �. �GD. 3 �<=E> : �OLM=L4O L>>?4, 2016-2018. 3 '. 3. �5O>=>65==O5 
4<DD5D5=F<4?L=O5 GD46=5=<O. $O4O. �D4F=O5 <=F57D4?O. 3 2017. 3 321 E. 

11. $O5GL>>, �. �. �OEL4O <4F5<4F<>4: 6 5 G. / �. �. $O5GL>>, &. �. �GD. 3  
�<=E> : �OLM=L4O L>>?4, 2016-2018. 3 '. 4. �D<6>?<=5==O5 <=F57D4?O. 
-?5<5=FO F5>D<< ?>?O. $G=>F<< >><??5>E=>= ?5D5<5==>=. 3 2017. 3 257 E. 

12. $O5GL>>, �. �. �=4<6<4G4?L=O5 7444=<O ?> 6OEL5= <4F5<4F<>5 : 6 4 
G. / �. �. $O5GL>>, �. �. �4DE4F>6. �. �. �5D6465F, �. �. .DGFL.  3               
�. : �OLM=L4O L>>?4, 2013-2014. 

13. %<<D=>6, �. �. �OEL4O <4F5<4F<>4 (<4F5<4F<G5E><= 4=4?<7) : GG55.-
<5F>4. ?>E>5<5 / �. �. %<<D=>6. 3 �<=E> : ��-' <<. �.�. %4E4D>64, 2007. 3 67 E. 
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�==>64F<>==O5 ?>4E>4O < <5F>4O > ?D5?>4464=<N GG55=>= 

4<EF<??<=O 

�D< <7GG5=<< 4<EF<??<=O «�4F5<4F<G5E><= 4=4?<7» D5>><5=4G5FEO 
<E?>?L7>64FL  ?D4>F<>>->D<5=F<D>64==O= ?>4E>4, >>F>DO= ?D54?>?4745F: 
>E6>5=<5 E>45D64=<O >5D47>64=<O G5D57 D5L5=<O ?D4>F<G5E><E 7444G; 
?D<>5D5F5=<5 =46O>>6 MDD5>F<6=>7> 6O?>?=5=<O D47=OE 6<4>6 
?D>D5EE<>=4?L=>= 45OF5?L=>EF<; >D<5=F4F<N =4 75=5D<D>64=<5 <45=, 
D54?<74F<N 7DG??>6OE EFG45=G5E><E ?D>5>F>6, D476<F<5 ?D54?D<=<<4F5?LE>>= 
>G?LFGDO; <E?>?L7>64=<5 ?D>F54GD, E?>E>5>6 >F5=<64=<O, D<>E<DGNM<E 
ED>D<<D>64==>EFL ?D>D5EE<>=4?L=OE >><?5F5=F<=. 

�D< D54?<74F<< 44==>= 4<EF<??<=O <E?>?L7GNFEO E?54GNM<5 6<4O 
GG55=OE 74=OF<=: ?5>F<<, >>=EG?LF4F<<, ?D4>F<G5E><5 74=OF<O < 
E4<>EF>OF5?L=4O D45>F4 EFG45=F4.  

� D4<>4E ?5>F<>==OE 74=OF<= ?D54GE<>FD5=> <E?>?L7>64=<5 
<G?LF<<54<==OE ED54EF6. 

� ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 7444=<= <E?>?L7GNFEO 
4<44>F<G5E><5 <4F5D<4?O, 6>?NG4NM<5 7444G< ?>6OL5==>= E?>6=>EF<. 
�E?>?L7>64=<5 4<44>F<G5E><E <4F5D<4?>6 ?>76>?O5F D45>F4FL E>D>L> 
GE?564NM<< EFG45=F4< E 5>?LL<< >>MDD<F<5=F>< ?>?57=>7> 45=EF6<O. 

�7GG5=<5 4<EF<??<=O ?D54GE<4FD<645F E<EF5<4F<G5E>GN 
E4<>EF>OF5?L=GN D45>FG EFG45=F>6 E D5>><5=4G5<O<< GG55=>-
<5F>4<G5E><<< <4F5D<4?4<<, Internet-<EF>G=<>4<< < 4DG7<<< <EF>G=<>4<<.  

�?O >D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6 ?> >GDEG 
=5>5E>4<<> <E?>?L7>64FL E>6D5<5==O5 F5E=>?>7<<: D47<5EF<FL 6 E5F56>< 
4>EFG?5 >><??5>E GG55=OE < GG55=>-<5F>4<G5E><E <4F5D<4?>6 (?D>7D4<<4, 
<5F>4<G5E><5 G>474=<O > ?D4>F<G5E><< 74=OF<O<, E?<E>> D5>><5=4G5<>= 
?<F5D4FGDO < <=D>D<4F<>==OE D5EGDE>6, 7444=<O 6 F5EF>6>= D>D<5 4?O 
E4<>>>=FD>?O < 4D.). 

%4<>EF>OF5?L=4O D45>F4 >EGM5EF6?O5FEO 6 6<45 4G4<F>D=OE < 
6=54G4<F>D=OE D>D< ?> 6OEL5= <4F5<4F<>5. �?O E4<>EF>OF5?L=>= D45>FO 
EFG45=F4< ?D54?474NFEO <=4<6<4G4?L=O5 4><4L=<5 7444=<O. � D4<>4E 
<=4<6<4G4?L=OE >>=EG?LF4F<= EFG45=FO >5EG644NF E>4 6O?>?=5=<O 
<=4<6<4G4?L=OE 4><4L=<E 7444=<=.  

 

&5<O E4<>EF>OF5?L=OE D45>F 

1. �><??5>E=O5 G<E?4. 
2. $G=>F<< < <E >E=>6=O5 E6>=EF64. 
3. '<E?>6O5 ?>E?54>64F5?L=>EF<. �D545? ?>E?54>64F5?L=>EF<. 
4. �D545? < =5?D5DO6=>EFL DG=>F<<. 
5. �OG<E?5=<5 ?D><76>4=OE. �5M4O EE5<4 <EE?54>64=<O DG=>F<< < 

?>EFD>5=<O 55 7D4D<>4. 
6. �OG<E?5=<5 <=F57D4?>6. �E=>6=O5 <5F>4O <=F57D<D>64=<O. 
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7. �OG<E?5=<5 G4EF=OE ?D><76>4=OE. ->EFD5<G< DG=>F<= 46GE 
?5D5<5==OE. 

8. �OG<E?5=<5 46>==OE <=F57D4?>6. 
9. �OG<E?5=<5 >D<6>?<=5==OE <=F57D4?>6 I < II D>44. 
10. $5L5=<5 ��' 1-7> ?>DO4>4. 
11. $5L5=<5 ��'-2, 4>?GE>4NM<5 ?>=<65=<5 ?>DO4>4. 
12. $5L5=<5 ?<=5==OE ��' 2-7> ?>DO4>4 E ?>EF>O==O<< 

>>MDD<F<5=F4<<. 
13. $5L5=<5 E<EF5< ?<=5==OE ��' 1-7> ?>DO4>4 E ?>EF>O==O<< 

>>MDD<F<5=F4<<. 
14. '<E?>6O5 < EF5?5==O5 DO4O. 

 
 &5<O <=4<6<4G4?L=OE 4><4L=<E 7444=<= 

1. �D545? DG=>F<< < 5U =5?D5DO6=>EFL. 
2. �<DD5D5=F<4?L=>5 <EG<E?5=<5 DG=>F<< >4=>= ?5D5<5==>=. 
3. �5>?D545?U==O= <=F57D4?. �?D545?U==O= <=F57D4? < 57> ?D<?>65=<O. 
4. $G=>F<< =5E>>?L><E ?5D5<5==OE.  
5. �<DD5D5=F<4?L=O5 GD46=5=<O < E<EF5<O. 
6. '<E?>6O5 < DG=>F<>=4?L=O5 DO4O. 
 

�5D5G5=L D5>><5=4G5<OE ED54EF6 4<47=>EF<>< 

% F5?LN 4<47=>EF<>< 7=4=<=, G<5=<= < =46O>>6 EFG45=F>6 ?> 44==>= 
4<EF<??<=5 D5>><5=4G5FEO <E?>?L7>64FL: 

1) >>=FD>?L=O5 D45>FO; 
2) E4<>EF>OF5?L=O5 D45>FO; 
3) F5EFO; 
4) GEF=O= >?D>E 6 E>4 ?D4>F<G5E><E 74=OF<=; 
5) ?D>65D>G >>=E?5>F>6 ?5>F<= EFG45=F>6. 
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4<EF<??<=O, E 

>>F>D>= FD55G5FEO 

E>7?4E>64=<5 

�4764=<5 

>4D54DO 

�D54?>65=<O >5 

<7<5=5=<OE 6 

E>45D64=<< GG55=>= 

?D>7D4<<O 

GGD5645=<O 6OEL57> 

>5D47>64=<O ?> 

GG55=>= 4<EF<??<=5 

$5L5=<5, ?D<=OF>5 

>4D54D>=, 

D47D45>F46L5= GG55=GN 

?D>7D4<<G (E G>474=<5< 

44FO < =><5D4 

?D>F>>>?4) 

 
%>7?4E>64=<O E 

4DG7<<< 
4<EF<??<=4<< =5 

FD55G5FEO 
 

   

 
 
 

 
 

   

 
 
 

 
 

   

 


